Sr Questions Answers Choice

A e
U ~mal
U siend
e s

1 ol dlal R S

=l Sl £
=l S
= B Jser.
e

2 S5 S 5 amy S (S0 el G g g 250meY (e

G 5 5 ke
o e
58

YW

3 = Gle S e e,

S dls 5 e
S g G

S a0
S Guaie gols

4 Al S o ) eSotie Gsiend gl S o ik S eay HI R S

DR e
BT
H

5 20 B8 posient (S dlog S e S,

ol R Sa
s ple
@)
DR 5 sk

6 8 S5 e (s e ) L Gl 8 S

SSay el
DR R s s
Celd 5 SS

7 e S R o iy S S il ) S50 Jeas 5 e G

030
cu

b
32
&lsa

8 :csJl.gaj)gcu'{lQu\ﬁﬁdm&:au.auﬁdha;\ﬁk:@ﬁic@}ﬁ,

&5 S
5 e
L8 5 (aluse
L& 55 ilia

9 € elS 5 el o5

sa

-

W» DOWP DOWP UOEP» UOWr 00Wr 0DOEP» UOWP 00UP 00OW

B

C. X3

D. u_\...uh),\

10 SsSa AR s loedl) s g



